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| Perimeter and Area of Similar Figures

For each pair of similar figures, find the perimeier of the second figure.
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6. A triangle has a side length of 4 inches and an area of 18 square inches
and a larger similar triangle has a corresponding side length of 8 inches.

Find the area of the larger triangle.
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7. A rectangle has a side length of 3 feet and an area of 24 square feet. A
larger similar rectangle has a corresponding side length of 9 feet. Find

the area of the larger rectangle.
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8. FLOWER GARDEN A rectangular shaped flower garden has a Iength of
5 yards and an area of 15 square yards. A neighbor’s flower garden is
similar and has a length of 7 yards. What is the area of the neighbor’s
flower garden? Round your answer to the nearest whole number.
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) Perimeter and Area of Similar Figures

For each pair of similar figures, find the perimeter of the second figure.
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7. A triangle has a side length of 3 inches and an area of 22 square
inches. A similar triangle has a corresponding side length of 8
inches. Find the area of the larger triangle. A - 88 in L

8. A rectangle has a side length of 2 feet and an area of 10 square feet.
A similar rectangle has a corresponding side length of 6 feet. Find the
area of the larger rectangle. A_ - L} 0 g_'l—

9. LAKE LOT A rectangular shaped lake lot has an area of 4,800 square
feet. The width of the lot is 60 feet. A similar lot across the road has
a width of 80 feet. What is the area of the lot across the road? Round
your answer to the nearest whole number. A 8 2
=3522 1
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